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The figures in the margin indicate full marks
for the questions

1. Answer the following questions (any ten) :
1x10=10

oo ey e fordt (R e o)
() What is social indifference curve?
At e @1 %2

(b) Define property rights.
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(c) What is monopoly power?
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22A/1119 ( Turn Over )




(2)

[d What ;
,,:; is product differenti
€ saddle point.
o
et e

What js
Payoff matrj
Reem trixp
s R

()

)  What

0 wh
at js

OIigopOly t'he basic dlﬂl

#nd duopolyp erence between

wﬁm"
R, T Ve
K)  What T s
tis sh‘-'tdown o
SR in

L

( Continyeq)

.

e -

9. Answer the following que
s spe v P (R T o) :
Define Pareto efficiency-

oy’ e e

(b) Write two

(@

ot vads et

e T
centration ratio determine

How does con
degree of monopoly power?
e ST o IE wi @
e LS g 7

221\!1119

(©



(d)

{e} What

‘9) whatare

(h) What

R Al o TR IR e [
i 34
(e) Explain the concept of Prisoner’s

Dilemma.

R @ LreTCo! 1 T

Distinguish between perceived and
proportionate demand with the help
of a diagram-
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e growth of monopoly

(g) Explain hoW th
power can lead to market failure.
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( 8)

(h) Explain why there is no supply curye
under monopoly. Explain the

case
of dumping in international Price
discrimination. S+5=10

GO TWS @ @ R o TR,
T 31| IwEer @RS et
CPIS TI™1eq Y1TZHr 2510 3647 |

() Describe how a monopolist will
discriminate the Price in the markets
with different elasticities of demand

and attain equilibrium. 10

() Compare and contrast  Bertrand

and Stackelberg’s equilibrium under
oligopoly.
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for the questions

1. Answer any ten from the following as
directed : 1x10=10

oo fMITERE R @ web[ Aot el fm -

(a) Mention one assumption of Harrod-
Domar growth model.

@S- [Ir wifRs @O wfeqer Srmy
ESIl |

(b) Name one neo-classical growth model.

F-515EIPe [{RPr =¥ o = B |
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(3)

What 18 meant by fiscal policy?

mﬁ@ﬁﬁﬁﬁ{ﬁ@ﬁ{ﬁﬁ?

(k) What is Ricardian cquivalence?

i e &2
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(n) Did Keynes pelieve in full employment
equilibrium?
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@Wu@ﬁﬁﬂmﬁm

amm@ﬁw@ﬁﬁﬂm

(o) Nameé o esian economist.

g

following

(a) What is the golden rule?
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()

) Discuss the objectives of monetary



(8)

() Discuss the main features of Keynesian
thought.

(LM SRYAM T4 CIHEPTTZ ST F41 |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

TRIM SR U @FON R W
SRR Y51 SRR, ST 3947 |
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1. Answer the following questions (any ten) :
1x10=10

@eq &R Oeq o (R e weht)

(@) What is a standard normal variate?

e YR {5 7 2
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(n) State the €Xpression for NOPm
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(10 )
(11 )

+ByX
249 +UJ
bl
0) Explain how specification error may
arise if irrelevant yariable 18 included in
a linear regression model. Explain the

consequences of speciﬁcation error.
4+6=10
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